FR26FEEEMFNRIEARRIEFBEROME

= ‘ = e 2 IR NG
ES| MR G| EXREEHE | BEERE | oo BERNE EXEM) = & E & [mEHE Zom
KETEEISR |AR=# e |PEELIEER 1R
U Pz Ll i R EHE R BER | fpm o 181,675,440 81,953,000 0 0| 99,722,440
KEDBEITR AR EH ik
% x= | BE4E 16EF
2 | RET (g ms 1B [ 12 (;fiﬁg) a2 1 13,338,000 5,867,000 0 0 7,471,000
BRI B e R 1 AT
BIRBERISX |[HREH ——r L
3 | KA A—HEmEs  |JEEED RIFES i 167,312,865 73,495,000 0 0| 93,817,865
en sy = | PIFASF | BETBHEER 148
4 | #REET Fﬁﬁ’ﬁfiﬁib’” %EEE%T””H (- B i3k 52,920,000 [ 23,685,000 0 0| 29235000
HEEERRS |8 BE) [SIVORERE1 BT
TR27FEBEHRFNBIENEFEROME
= ‘ = TR o NG
ES|MAA G| EXRETHE | BEERE | o BERNE BXEM) 5 B E & [REHE  Zom
HEMRBEYS |[HRSH AlEES E’E;ﬁ;iﬁ;ﬁ
= EMXEFEIT = R =2
1| HEW | e s 5 je (R | 1 48 184,140,000 83,164,000 0 0| 10,976,000
HRKBIAREIEMN 1K




